2017

HAG 134 Series
Parts List & Dwgs



ISKLO

HAG 122-134 Series
Gen-set Components




”ﬂ‘ﬂ m HAG 122-134 Series Gen-set Components

| Dwg No | GP Part Number Part Description
1 462800100 1 Engme Vanguard 6.5 Hp (8-16)
(Subaru engine discontinued as of 8-2016 per Fuji Heavy Ind)
2 301330000 1 HAG Key 3/16" x 3/4" (Vangaurd)
3 301698100 1 HAG Engine Hsg Casting
4 485700008 4 Washer M8 Flat
5 100100122 4 Washer M8 Lock
6 000104023 4 Bolt 5/6-24 x 1" GR8 Hex
7 301700100 1 HAG 134 Stator
8 301328000 1 HAG 134 Rotor Magnet
9 411360050 1 Bearing 6005 2RS (use if Vangaurd engine)
411362040 1 Bearing 6204 2RS (use if Subaru engine)
10 200255000 1 HAG Bearing Hsg Casting
11 310410125 2 HAG Casting Grommet
12 301330000 1 HAG Stator Shield
13 200257000 1 HAG Fan Hsg Casting
14 100400130 4 Washer M6 Flat
15 100100121 4 Washer M6 Lock
16 400551000 4 Bolt M6 x 165 Hex
17 301325000 1 HAG 122/134 Fan
18 301326000 2 HAG 122/134 Fan Washer
19 301327000 1 HAG 122/134 Air Guide
20 301332000 1 Bolt 5/16-24 x 5 1/2" GR8 Hex
21 301329000 1 HAG 122/134 Fan Cover
22 Inquire 1 Bolt M5 x 15 SW
23 585105020 2 Bolt M5 x 20 SW

ISKCO, Ltd. 9627 Rowlett Dr. N. Little Rock, AR 72113 Ph:501-812-0220 Fax:501-812-0770 www.iskco.com

2017



HAG134 Frame Mnt Components 2017

ISKL




ISKED

HAG 134 Frame Mnt Components

Dwg No GP Part Number Qty Req Part Description
24 301200101 1 HAG MT Fuel Tank
25 100400129 10 Bolt M8 x 25 Hex
26 100100122 12  [Washer M8 Lock
27 485700008 18 [Washer M8 Flat
28 301200104 4 HAG MT Fuel Tank Mnt Flange
29 480508020 8 Bolt M8 x 20 Hex
30 301300105 1 HAG 134 MT Frame
31 480200110 12  |Washer 5/16" x 3/4" x 1/4" (Rubber)
32 100100119 6 Nut M8 Nyloc
33 301333000 1 HAG 134 Electrical Box
34 000104035 1 Washer 3/4" SAE Flat
35 900130115 1 Nut 1/2" Conduit
36 900130014 1 Cord Conn HAG RSR9107
37 485001375 8 Nut 3/8-16 Nyloc
38 090102239 4 Isolator HAG 122/134

ISKCO, Ltd. 9627 Rowlett Dr. N. Little Rock, AR 72113 Ph:501-812-0220 Fax:501-812-0770 www.iskco.com

2017






U& MEX 4 HAG 134 Electrical Panel Components

Dwg No GP Part Number Qty Req Part Description

39 900130124 2 Aux Contact Block GVAE1

40 491210001 18 #8 Ring YELLOW SSC (In a STD Panel)

40 491210001 12 #8 Ring YELLOW SSC (In a TL Panel)

41 491210002 12 #8 Fork YELLOW SSC (In a STD & TL Panel)

42 491614005 1 #8 Fork BLUE (In a STD & TL Panel)

43 492018006 3 #8 Fork RED (In a STD & TL Panel)

44 301334000 1 HAG 134 EX Electrical Cover

45 301370000 10 Nut M5 Nyloc (In a STD Panel)

45 301370000 6 Nut M5 Nyloc (In a TL Panel)

46 480805015 4 Screw M5 x 10 (black w/washer)

47 090202005 2 Adapter Plate (Twist Lock) TL

48 090101024 2 Twist Lock Recept 2810

49 100218100 2 EC 30 Recept

50 090202006 2 Adapt Plate (EC 30) STD

51 301200110 10 [Screw M5 x 18 SCS (In a STD Panel)

51 301200110 2 Screw M5 x 18 SCS (In a TL Panel)

52 301368000 1 Terminal Strip HAG (Buss-TB-300-06)

53 700100305 16 |Bolt 1/4-20 x 1/2" Hex GR5

54 485400350 8 Nut 1/4-20 Nyloc

55 100100121 8 Washer M6 Lock

56 462400165 1 HAG Ground Lug (BUR-KA2U)

57 462400170 2 Lamp LED-GREEN ABB-CL-504G

58 462400160 2 Lamp LED-RED ABB-CL-504R

59 301371000 2 Overload Cover HAG (Kit, not sold sep GV2MP02)

60 301367000 2 Overload GV2ME21
301300101 HAG 134 EXS Electrical Panel Assy (STD)
301300201 HAG 134 EXT Electrical Panel Assy (TL)

ISKCO, Ltd. 9627 Rowlett Dr. N. Little Rock, AR 72113 Ph:501-812-0220 Fax:501-812-0770 www.iskco.com

2017



HAG 134 Fuel Components 2017

ISKED

(Spec inches req
when ordering) 65 =




ISKED

HAG 134 Fuel Components

Dwg No GP Part Number Qty Req Part Description
61 301370000 2 Nut M5 Nyloc
62 090101325 1 BPX Nylon Loop Clamp 3/8"
63 480805015 2 Screw M5 x 10 (black w/washer)
64 301200107 1 HAG MT Fuel Tank Vent Valve (w grommet)
65 900130001 32 (in) |Fuel Line 3/16" (32 inches per gen-set)
66 301200108 1 HAG Vent Line Grommet
67 301200105 2 HAG MT Fuel Line Splice 1/4"-3/16"
68 301200106 1 HAG MT Vent Line "T"
69 101000161 2 HAG MT Single Pinch Hose Clamp 3/8x7/16"
70 900030007 1 HAG 134 Fuel Strainer Assy MT
71 101000160 2 HAG 134 Hose Clamp Single Pinch 3/16"
72 301200109 1 HAG Vangaurd Shroud Mnt Brkt

ISKCO, Ltd. 9627 Rowlett Dr. N. Little Rock, AR 72113 Ph:501-812-0220 Fax:501-812-0770 www.iskco.com

2017



	Blank Page



